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M* = 0.08wL? = 0.08 X 1000 x 42 = 1280 kg.m
M~ = —0.045 X w X L? = —0.045 X 1000 x 42 = =720 kg.m
R=04XLXxw=04x%x4x1000 = 1600 kg
wL 1000 x 4
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M™* = 0.08wL? = 0.08 x 1000 x 52 = 2000 kg.m
M~ = —0.045 X w X L2 = —0.045 x 1000 x 52 = —1125 kg.m
R=04xLxw=0.4Xx5x 1000 = 2000 kg
_wL_1000x5 ___
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3 gae
M™* = 0.08wL? = 0.08 x 1000 x 42 = 1280 kg.m
M~ = —0.045 X w X L2 = —0.045 x 1000 x 4> = =720 kg.m
R=04XLXw=0.4x%Xx4x%x1000= 1600 kg
_wL_1000x4_
“2 7 2 g
M* = 0.08wL? = 0.08 x 1000 x 52 = 2000 kg.m
M~ = —0.045 X w X L2 = —0.045 x 1000 x 52 = —1125 kg.m
R=04xLxw=0.4Xx5x 1000 = 2000 kg
_WL_1OOO><5_2500 I
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5 gae
P = Vpeami = 2000 kg
M = My, gmil =720 kg.m
0 gae

P = Vyoams + Ps = 2000 + 2000 = 4000 kg
M = |Mj,qms| + Ms = 720 + 720 = 1440kg.m




P = Vbeamz = 2500 kg
M = —|My,gm2| = —1125 kg.m

P = Vyoama + P; = 2500 + 2500 = 5000 kg
M = —|Mj,qmal + M, = —1125 — 1125 = —2250 kg.m

P = Vyeam1 + Voeamz = 4500 kg
M = |Mpeami| = IMpeamz| = 405 kg.m

P =Vyeams + Vbeama + Po = 2000 + 2500 + 4500 = 9000 kg
M = [|Mpeam3| — [Mpeamall + Mg = 405 + 405 = 810 kg.m
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